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145 W =96

150 DIM Y(N),U(N),P(ND),
AM,WHB(W,M

152 DIM C(M, M), Z(M, M),
D(W),FIM,W),E(MD

155 FOR I=0 TO N

160 READ YD

165 NEXT 1

170 FOR I=0 TO N

175 READ UM

180 NEXT I

395 [=0

400 DD =-Y(dA+2

405 I=1+1

410 IF I=W +1 THEN 420

415 GOTO 400

420 1=0

425 BL,O=YA+1D

430 [=1+1

435 [F I=W +1 THEN 445

440 GOTO 425

445 PRINT

455 PRINT

465 [=0

470 B, =YD

475 I=1+1

480 IF I=W +1 THEN 490

485 GOTO 470

490 I=0

495 B(L2Y=U{(+ 1D

500 [=1+1

505 IF =W +1 THEN 515
510 GOTO 495

516 I=0

520 B(,3) =UWM

525 1=I+1

530 IF I=W +1 THEN 650
535 GOTO 520

650 FOR [=0 TO W

655 FOR J=0 TO M

660 ACJ,DD=B,D

665 NEXT J

670 NEXT I

685 FOR K=0 TO M

690 FOR I=0 TO M

695 S=0

700 FOR J=0 TO W

705 S= A, *BU,K)+S
710 NEXT ]

715 C(I,K) =S

720 NEXT I

725 NEXT K

760 FOR S=0 TO M

765 Z(S5,5) =1

770 NEXT S

775 FOR §=0 TO M

780 FOR T=S TO M

785 IF C(T,S)< >0 THEN 805
790 NEXT T

795 PRINT“MATRIX SINGULIR"
800 GOTO 1085

805 GOSUB 855

810 C=1/C(S5,S

815 GOSUB 900

820 FOR T=0 TO M
825 IF T=S THEN 840
830 C= -C(T,

835 GOSUB 925

840 NEXT T

845 NEXT S

850 GOTO 950

855 FOR J=0 TO M
860 B=C(5,D

885 C(S,1) =C(T, D)
870 C(T,» =B

8756 B=Z(S,D

880 Z(S,D=Z(T.D
885 Z(T,1D=B

890 NEXT J

895 RETURN

900 FOR J=0 TO M
905 C(5,1) =C«C(5,1)
910 Z(5,1D=C*Z(S,D
915 NEXT J

920 RETURN

925 FOR J=0 TO M
930 C(T, D =C(T,]) +C*C(S, D
935 Z(T»1) =Z(T,I) + C+Z(S,])
940 NEXT J

945 RETURN

950 PRINT

985 FOR K=0 TO W
99¢ FOR 1=0 TO M
995 5=0

1000 FOR J=0 TO M
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1005 S=Z (LD#*AU,K) +S
1010 NEXTJ

1015 F(LK) =S

1020 NEXT 1

1025 NEXT K

1030 FOR 1=0 TO M
1035 S=0

1040 FOR J=0 TO W

B E &M 19845 %k

1045 S=F(,D«D(]) +S
1050 NEXT J

1055 E(D=S

1060 NEXT I

1065 FOR I=0 TO M
1070 PRINT

1075 PRINT*E(D =";E(D
1080 NEXT I

1085 END

IT B 4 W
E() = - 1.500005906846
E(I)=0.70000662758285
E(I) = 0.99996601059714
E(I)=0,50003154414456

>>

BRI BRERN_RE GFBEET) BERRSHHTD A%

10 DATA 3.26E-03, - 1,23E-04,
1.98E-03,2.8E-03

20 DATA-1.23E-04,6.77E-05.
-7.3E-0,5,-2.54E-05

30 EDATA 1,98E-03, -7.3E-05,
2.24E-03,6.43E-04

40 DATA 2,8E-03, - 2,54E-05,
6.43E-04,3.63E-03

50 DATA-0,02449,1.1739E-03,
1.2958, - 0, 1545

60 DATA - 122, - 130,85,81

70 DATA - 130, - 122,94,85

80 N=3

90 DIM A(N,N),X(N),G{(NJ,N1
(N),Y(ND,B(ND

95 DIM F(N),H(N,N),M(\»

100 Z =130

10FOR I=0 TO N

120 FOR J=0 TO N

130 READ A, D

140 NEXT J

150 NEXT I

160 FOR I=0 TO N

170 READ G

180 NEXT I

190 FOR I=0 TO N

200 READ X

210 NEXT I

220 FOR [=0 TO N

230 READ N1(D

270 DATA-141, - 130,101,9¢4
280 GOSUB 670

640 END

670 FOR I=0 TO N
680 X(I)=N1(D

690 NEXT I

700 FOR I=0 TO N
710 READ N1

720 NEXT I

721 PRINT

740 PRINT

750 FOR [=0 TO N
760 PRINT“N1(D = "y N1(D),
770 NEXT I

775 PRINT

780 FOR [=0 TO N
730 PRINT XD =" XD,
800 NEXT I

801 PRINT

810 FOR I=0 TO N
820 S=0

830 FORJ=0TON
840 S=AL DX +S
850 NEXTJ

860 Y =S

870 NEXT 1

880 S=0

890 FOR I=0TO N

240 NEXT I 900 S=XD*Y(D+S
250 GOSUB 750 910 NEXT I
260 Z =141 920 C=S
TERHE (&%)
Ni(D = - 200 N1(I) = - 189
X =-189 X =-179
= -0,46077204696023 = -0,073153044291353

Ni(D) = 150

930 W=1/(0.95+C)

940 FORI1=0 TON

950 B(D) =Y(DH»W

960 NEXT I

970 FOR I=0 TO N

980 F(I) =B()*(C+0.95)
930 NEXT I

1000 FOR I=0 TO N
1010 FOR J=0 TON
1020 H{,D) = F()*BD
1030 NEXT J

1040 NEXT I

1050 FOR I=0 TO N
1060 FOR J=0 TO N
1070 AL = (A, - HAULD)

#(1/0.95)
1080 NEXT J
1090 NEXT I
1100 S=0

1110 FORI=0 TON
1120 S=XMD+*GD +S
1130 NEXT I

1140 L=S

1150 L1=Z-L

1160 FOR I=0 TO N
1170 M =BW)*L1
1180 NE™T |

1190 FOR I1=0 TO N
1200 G =G + MWD
1210 PRINT*G ="sG(D,
1220 NEXT I

1230 RETURN

Ni1() =164
X{) =150
G =0.8655307057761 (F $:38%)
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G =-0,24279185142384
N =-195 NI1(D = - 200
XD = =200 X(D) = ~189

G = -0,46897021899229
G=-0.27516601162172
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AR San e 4 e N g o W

G=-0.073764517440264
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Ni1(I) =160
X =150

Ni1{) =150
X =160
G =0,88317649017867
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